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Consider the attend.wf1 data set for the exam where the following is the model 
Stndfnl = β0+β1*atndrte + β2 * priGPA + β3 * ACT + β4 * (priGPA)2+β5 *ACT2+β6 *priGPA*atndrte+ u

Stndfnl is standardized outcome on a final exam
Atndrte is the attandence rate

priGPA is the GPA of the previous semester

ACT is the ACT exam score.

Report the estimate of the above model.

1. What is the estimate of the restricted model  and test statistics of the hypothesis for 
Ho: β3=0 versus Ha: Not Ho. Do you reject the null?

2. What is the estimate of the restricted model  and test statistics of the hypothesis for 
Ho: β1=β6=0 versus Ha: Not Ho. Do you reject the null?

3. Answer one of the following (a or b) 

a. Test Ho: β1=β6=0 versus Ha: Not Ho with the LM test (I did not cover in the lab but I thought in the class).  What is the test statistics?  Do you reject the null?

OR 

b. Interpret β3.  Interpretation is not straightforward and I did not teach in the class. Note that there are two ACTs.
4. What is the estimate of the restricted model and test statistics of the hypothesis for 

Ho: β4=β5=β6=0 versus Ha: Not Ho. Do you reject the null?

5. What is the estimate of the restricted model and test statistics of the hypothesis for 

Ho: 2β4=3β5=4β6 versus Ha: Not Ho. Do you reject the null?
6. What is the estimate of the restricted model and test statistics of the hypothesis for 

Ho: 2β4=3β5=4β6=2 versus Ha: Not Ho. Do you reject the null?
7. What is the estimate of the restricted model and test statistics of the hypothesis for 

Ho: β2=1.50, β5=β6 versus Ha: Not Ho. Do you reject the null?
8. What is the estimate of the restricted model and test statistics of the hypothesis for 

Ho: 2*β3+β4 = 0, β5-β6 = 0.001 versus Ha: Not Ho. Do you reject the null?
9. If the following is the restricted model then what is the null hypothesis?

Stndfnl -3*(priGPA)2= β0+β1atndrte + β2 priGPA + β3 ACT + β5ACT2+β6priGPA*(atndrte-82)+ u
10. What is the test statistics of question 9 and do you reject the null?
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